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All questions carry equal marks.
Use of calculator is permitted.
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1. What is meant by extrapolation ? Explain the importance of

extrapolation. 10

FEAIM US| ki ? F@dIET HEd T .

Or
(feram)
Solve the following simultaneous equation with the help of matrix :
2¢c + 3y = 7
4 + 2y = 10
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2 + 3y = 7

4c + 2y = 10

Explain the addition and subtraction rule of matrix with suitable examples. 10
HO= S S0 SSieehi=n 90 4rg ISR0mHe €05 .
Or
(feram)
Find the partial derivatives of the following functions :
Tl wed SAfreh  fomerst el e

@ U=xa%+ 3%y +y3+ 8

b)) U=2x3—-9y2+ 20xy + 4
Explain the rules of indices with suitable examples. 10
HalehT a9 g SRR T .
Or
(feram)
The table below gives the sugar production of different years in India. Find
the probable production of the year 1990.

Year Production
1986 40

1988 85

1990 L
1992 150
1994 260
1996 350
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GTeAtel deedTd ARArdiel 13— aidiel TR Scared ool 31”, T8 1990 31 a8i= TY9Teq
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EL ERICE]
1986 40
1988 85
1990
1992 150
1994 260
1996 350

Explain the rules of differentiation with a suitable examples.

fosherstrel oM 4 TR T .
Or
(fenam)
Find A . B, where

@ A . B, 9%
[4 9} {486}
A= ,B=
8 7 1 20

Write short notes on (any fwo) :
() Transpose of Matrix;

(71)  Determinants of Matrix;

92004F4ED223223CDFEFB441D849B022

10

10

P.T.O.



WT ( 4)

(i11) Find the total derivative of the following function :

u = 4x2 + xy — 3y?
(iv) Prove that :

am + an - am—n
dqresma femr fogr (FIoEl FeR)
@) T 9fiead forar aferdq
@)  9roiEr fAuies

(i) A A=l THU faehas h@l :

u = 4x? + xy — 3y?
Gv) Tog =0 f* :

am™ + a* = a™"
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